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Part A

Answer all questi.ons.
Each qwstion eanins L/e weightage.

Tirae : Three Hours

1. Each product or factor market is considered as independent as self 'contained for the proper
explanation of the determination of price and quantity of a commodity or a factor is :

(a) Partialequilibrium. (b) Generalequilibrium.

(c) simultaneous equilibrium. (d) None.

2. Tbansformation curve is calied :

(a) Froduction possibilityeurve. (b) Contract curve.

(c) Iso product curve. (d) None.

3. When return to scale ihcreases the transformation curve would be ?

(a) Concave. (b) Convex.

(c) StraightJine. (d) None.

4. 'The Political eeonomy of population" by :

(a) A. C. Pigou. (b) Graff.
I

(c) Radhakarral Mukherjee. (d) None.

5. Pareto concept of maximum social welfare is based upon :

(a) Ordinal utility. (b) Cardinal utility.

(c) Both (a) and G) (d) None.

6. Kaldor criterion and Hicks criterion were :

(a) Similar. (b) Different.

(c) Fairlysimilar. (d) None.
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lsecond best is formulated by:

z c4
7 . The theory of second best is formulated by :

(a) Walras. &) Cyert and March.

(c) Lipsey and Lancaster. (d) Hall and Hitch.

8. According to Kalecki, as the value of degree of,monopoly increases, the share of wages :

. (a) Increases. (b) Decreases.

(c) Both (a) and (b). (d) Zero.

9. According to Marx, wages are determined by :

(a) Surplus value. (b) Labour theory of value.

(c) Defrcit value. (d) None.

10. The term widows cruse refers to :

(a) Supply which is inexhaustible.

{b} Supply which is exhaustible.

(c) Supply which is transferrable.

(d) None.

I 1' According to Passinetti, in the long run'the distribution ofincome bdtween workers and capitalists
is influenced by the propensity of :

(a) Workers to save. (b) . Capitalists to invest.

-^-^ +^ *-^l--^^(c) Producers to produce. (d) None.

L2. 'The allocation of resources among industries and firrns" are analysed by the :

(a) Theory of pricing. (b) Theory of distribution.
(c) Theory of production. (d) Theory of consumption.-:

(L2x/+=Bweightage)
part B

Answer any five questions.

rB. Find the dual orthe:rouow i;X:::t7n 
carrics L wetghtase

Minimize Z=4Xro2&*Xg
subject to X, + X2 s 10

3Xr+\+XB >28

Wt-Xa = 6

x1, \, Xa > o.
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14. What are the assumptions of 2 x 2 x ?model ?

15. Prove Eulers theorem.

16. Theoryofsecond best.

17. Open input output model.

18. Market failure.

19. Adverse selection.

20. Externality

(5x1=Eweightage)
part C

Answer any eigLit questions.. Eo,eh ques.tion carri.es 2 weightage.

2L. Input output analysis.

22. Uniqueness, existence and stability in general equilibrium:,
flicks compensation criteria.'. 23. Kaldor..

24. Bergson Samuelson social welfare function. 
,

25. Ways of correcting market failure.

27.' Theoryof monopoly by l{alecki.

28. Passinettimodel ofdistribution.

2g. Arrows lmpossibilitytheorem.

30. Principal agent problem.

31. Solve the fqltowing linear piogramming problern graphically

Maximize Z= 60X1+ aOX"

subjectto -2Xr+)G<60
x'<2511> Zu

x2<35
\. x^>ols t-z- -'

(g x2=l6weightage) l
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, part D
Answei any three questibns.__ ,wvvwwrw.

Each question carrics 4 weightage
52. Bicardian theory of distribution. :

SS. Paretooptiuralitycriteria.

34. Market for lemons. +'

' 35. Externalifies alrd property rights.
B6 solve th€ sbl,lowingT; programming probrem by using simplex method r ' 

,r

Maxirnize Z= gXr+ 4Xz

subjectto-zxt +&2<2

Xi-)tr <2

BXr + ZX" <.9 :

xr,& >0.


